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genfeat & ford e - Instructions for the candidates :

. gdleme OMR IV UA# Y¢ HGA 1. Candidate must enter his / her
gy gfiasr @A (10 AFl BT Question Booklet Serial No.
dava @ Q (10 Digits) in the OMR Answer

. & : , . .

2. q??eﬂﬂﬁ qYrgqd 3@ Wﬁf Ecmczl:dmef; are required to give ther

IFT e/ QQ hswers in their own words as far
@ practicable.

3 Al G e ire g')rf&yzf qv ]%'2? 5 in the night hand margn

e #xd 81 | full marks.

9. gt &l g of extra tune have been
Wﬂzﬁ %"?15_ the candidates to redd
frar mar 2/ the questions carefully.

5. g weq g & gust ¥ & — 5 This question booklet is divded o
@qug-I Ug @Us-&/ two sections — Section-A and

Section-B.
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6.

qus-y § 70 axyfe wv7 &, [ 6.

q fa=t 35 wvt @ Fav &
Afard &1 35 g @ s T I
W g™ 35 F7 & gewEmT @
yeE & fau 1 o Frifea &1 e7er
3 37 & fow 3verRr FU9 W OMR
SW-9TF § Rv 7w g8t Freew &
At / et & 97 7 IR B
feat st www & wWgETw / Aver
w3 / &g / AT T FT OMR
IAT UAF ® g v gar 2
=TT AT SRR A=y g

GUg - & § 207y Iwetg avT § |
yew & fow 2 sfw fuifia & fad
& fe=l 10 v &1 Fav @
sfrard & | @ SifRe 39 @vg §
6 i Ievig gy R 13 & vd%F &
fore s ofF frifia & /@#ﬁﬁ&

3w#arrmé?rﬂ@m‘

Q\Q‘c
fFgt gdR & . I FT 8.
ST guiear afad & |

In Section-A, there are
70 objective type questions, out of
which any 35 questions are to be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. Darken the circle with blue
/ black ball pen against the correct
option on OMR Answer Sheet
provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
invalid.

In Section - B, there are 20 short
answer ‘type questions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying 5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances ts

. strctly prohibited.
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WUE - A / SECTION - A
‘E’Fﬂﬁﬁ WY / Objective Type Questions

O WO 1 W 70 7% & WAF uvy & @y 9w fwmew fv v & faad @ vw oawt
39 g7 Y7 ¢ WFt fawew & oMR vz wv fafdaa #¢ 1 T 35 ovr # 3 F

35~1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have o

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35«1 =35
1. 9 TER A F AR B % AN HUAAA® ¥ GO AE A FTEES E
fr=fefEs 3 #19-91 day @@ € 2
A ap, = o (B) au, = -
Hy Ba
(C) apy =p, XHu, (D) Ay, = Py, * 1y

If ap,, 18 refractive index of medium A with respect 1o medium B, then which of

the following rclations is correct for refractive index ?

H, bl
(A) ap, =— (B) au, = -2
“b ® “ﬂ
€ amy =g xmy D) ap, =ug +k,
&

i Q
W%Mﬁiwhﬁﬂhﬂvrﬁﬁmwkm&%&:w
MR, T, A R

HUGAATE aﬁﬁu@ﬂywﬁatﬁ W, HUH AE T@EN ¥ W W ETAR

T, | t "
\\/]
AL— Hp >} (8) Mo < B
(C) By =W (D) B 2> W

v
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Which of the following relations is correct for R, and u, for the given figure
which shows parallel incident beam on a lens of refractive index H; placed in a

medium of refractive index M, and parallel emergent beam ?

v

Hom ‘
{l-l! > Hnp
(A p, >, ' B)  u, <y
(C) Hm =1 (D) P >> 1y
3.  UF WH &1 SUSHIF 42 ¥, U G 16 07 24
(A)  30° (B) . “./45°
(C) 60° (D) . 90°
The refractive index of a m&gj\um is /20 Its corresponding critical angle will be
N
a)  30° &6\ (B) 45°
\Q‘Zr
(C) 60° O (D)  90°
$
4. OgE QeOelt & ATeyES §RT S T et g ¥
(A) IR R Bl | B) arfa® AR Bl
) e &R s (D)  drfa® 3R §g

The image formed by the objective of compound microscope is

(A) Virtual and diminished (B) Real and diminished

. (C)  Virtual and enlarged (D)  Real and enlarged
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5. Fyafefaa o sa-ardev gt @ )

(A) WTW=2T“W (B) FA = 28
A
. 1
(©) A = 28— (D) T = I FATAT
A quER g
Which of the following relation is correct ?
(A) Path difference = %5‘- Phasc difference
(B) Phasc difference = -i—“ Path difference
(C) Phasc differcnce = 2n 1
A~ Path difference
(D) Path difference = % . Phase difference
6. TSR AT I 39T FA & foIq Fe 1 S 2 2
(A) T @ Q (B) @g &H
. K\Q
€ s g IS | (D) FT I W TE=T @
N
The shape ul’&ﬁlrcc to produce spherical wavefront is
(A) Point source
(13) Lincar source
(C) Extended source at large distance
(D)  Extended source at small distance
7. g&I9l & 01 @l A oafefaa 8 &5 2 g o
(A)  HEM (B) MRV G S 9
© st ) R
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Which of the following gives the information about colour of light ?

(A) Amplitude (B) Speed of light wave
(C)  Frequency (D)  Wavelength

8. IW & & g1 Frfefas & #-w gfie @ ot e e &
() gt | B g
(€} SWI-gfeear (D) Hfagepar
Which of the following eye defects is removed by a convex lens ?
(A)  Myopia (B}  Hypermetropia
(C}  Presbyopia (D)  Astigmatism

9. Wﬁﬁﬁﬁ%ﬁf\qﬁm@uﬂ)ﬁ?ﬁﬁﬁﬂ?ﬁﬂ%qﬁﬁqiﬁgﬂ)]%
a9 Ffafaa 3 s9-a1 gy 9@ ¥ o (w5t pgzg-,p.w=% )

A fo=ty B 1, =41,
€ [, =4/, D) f,=2f,
Which of the foIlowing\(&tions between focal length of glass lens in air (fy)
9
and focal lcngth\@%lass lens in water (f,,) is correct ? ( Use Mg =% and
RN |
b w 3 ' )
(A) fg = fw (B) fa = 4fw
©  f,=4/, O  f,=2f,
10. TR & g4 & QY AAH H FAD
(c) swuRafaa ware (D) TR WGl & 3R IR H g &
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With increasc in wavelength refractive index of a medium
(A) incrcases

(B) decrcases

(C) remains unchanged

(D)  first increascs and then deccreases

1. fave yauer &1 5.1 o atar &

(A)  Nm™' (B) Fm™!
(C) mF! D)  Vm™

S.I. unit of gradient of potential is
(A)  Nm™! (B} Fm™!
(C) mF' | (D). " Vm™!

tz.lwmﬁﬁhm%wmﬁwm-mﬁﬁms.i.mﬁﬁmm

Froterfan 3 a4 et & 2
&6
Q-q NG
(A) - $§ (Bl  (Q-g)¢,
. .0 @
€p 1
©  os D) Fme(0-a)

Which of the following 1s correct for clectric flux in S.I. unit over a closed

spherical surface having charge (Q - q) inside it ?

n L4 B  (0-aqle,
€o
‘ =0 D) L_(0-q)
((-} (Q_q,) ( 4n EU 4
_ [ 117-] A |11013-A| - Page 7 of 28
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13, VoA #F e £ W@ om R ampt P oaw fem fom w o @
W—W(?}%mmﬁﬁﬁﬂmﬁﬁ%?

- .
(A) =PXE . ('B) ?:;E

(C) U= PE . (D) = P/E

. _ ‘ ‘ N
Which of the following relations is correct for torque (1) acting on an electric

dipole of dipol P - ' E
P 1poie moment P placed in electric field intensity E ?

T _a.7 - = 5
A r=pPxE. B) t=P.E
(C] t=PE (D) '(=P,IE
14. T Wi o dfua fagda Rufaw o=t a1 = 2
ay  2cv? B\
. L | -
(C) 3 cv N (D) ECV
Expression for electric p\:@%lial cnergy stored in a capacitor is
Q.
A Levz O B) Cv?2
2 | $&Q
© Lcv? N D) Lcv?
. 3 4
15. frarq & fou wege feadis &t &
(A) 23 (B) 35
(C) ] (PJ Nl
‘The valuc of dielectric constant for vacuum is
(A) 23 (B) 35
(C) 1 (D) ZCTO
l 117]A 11013-A Pagc 8B of 28
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16.

17.

18.

19.

Ui IYeha &1 S.1. T & &
(A} L (B) WA

(C) WW | (D)

S.I. unit of resistivity is
»

(3m) -

(A) ohm & (B) ohm . metre
(C)  ampere . volt (D) (ohm)™!
g % g & afew fego §

- - - -
(A) J=ocFE (B) E=0J

- - - -
(C) J=0%E D) E&c>d
Veclor representation of Ohm's law 1s

- — - —
(A) J=0F B} E=0cJ

J=o2E Q D) E=02J
(C] J =0 L L =07

N -
mﬁquﬁmuéxmﬁé.. 1O F1d &
N

@A) 3 §§ By 4
(C) 5 (D) 8

Yellow colour codeof carbon resistance is of value
A) 3 B) 4
(C) 5 (D) 8
IR T & 3ieX SeIaA &I A Bl §

(A) JHEY (B) I

©) ~THET A O
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The motion of clectron inside a current carrying conductor 1S

(A) uniform (B) accelerated
(C)  uniform average (D)  decelerated
20.  wiasny fefa e @
(A)  ur (B) g awE Fd
{? yfariy | D) ¥
Impedance represents
(A} current (B)  clectromotive force
(C)  resistance (D) power

21, S T ( L-R) k9w @1 wifw i g &

A)  R+oL (B) R
R2 + {'!)2L2

(C) RYR?+w2I? (D) %ﬂ
Power factor of series ( L-R) circuit is
(A) R+l \® (B) R_

NS VR - 0ll2

S
(C) RJR2;§%LQ (D) YL
N R
22. T ma fa3 q gry o A1 HAfeahaa 8 s 8 2

(A) I=10A (B)  [=8A
(C) I=2A (D) 1=

[ 117 lA 11013-A Page 10 of 28
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* Which of the following is the value of current I in the given figure ?

8A .
(A] I=10 A [B) I=8A
(C) I=2A (D) I= zero

23, Wﬁﬁﬁ%%%ﬁm%ﬁmgmﬁh&h%mﬁtﬁﬁf@?ﬁﬁ
G W& 2

un~I R
(A) B=-09 _Ho
2nR “'3) B 2nl
I
(C) B=—— D B =2l
HoR 2 HoR

Which of the following relations is correct for magnetic field due to a straight

current carrying cor‘lductc@finﬁnitc length ?
\\ '

_ o S oR
A B=5% \Q‘§ B)  B=-7-
© B=—19 D) B=-2L
Ho HoR
24,  3QY SicHIEY F1 Ty g &
(A) T (B) A
(€ B . (D) ga B
The resistance of an ideal voltmeter is
(A) ZCT0 (B) infinite
(C) small (D) very small
| 117 ]A [11013-A Page 11 of 28
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I~
n

- . ) 3 p)
GT-AR RET @ g1 WAl W T e HE A S &

(A)  sud 1M B " Hraa =1 A
(C)  awelfeie == (D) fyr@? |

. . 1 b hot W’jr{;
Which of the following values of altcrnating current 18 mcasured by

Ammeter ?
(A) Mcan valuc (B) Rool mean squarc value

(D)  Peak valuc

(C) Instantancous valuc
26, UF QM dad &9 4 g & faeee § e mn e % fog Fefaied 5 w5

2

(A) W = MB {1 - cos0) (3) W = MB (1 -sin0)

(C) W =MB(cos0-1) (D) "W = MB (sin0-1)

Which of the following is correct for work donc in the deflection of a magnet in a

uniform magnetc ficld ? Q

N
A)  W=MB(- c%@n (B) W =MB (1-sin0)
N3
(C) W=MB®—H (D) W = MB (sin0 - 1)
$
27.  IEEY S F S0 TEE B @
(A) M (B) FaT
(C) g (D) 3 HRT

S.I. unit of magnctic flux is

(A) ohm (B) webher
(C) tesla (D) ohm . metre
[ 117 ] A | 11013-A Yage 12 of 28
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28. Yl & TEE Y W A1 HI0 @ B

Ay 0° (B)  90°
€ 45 (D) 180°
Angle of dip at carth's magnetic pole is
(A)  0° (B) 90°
(C)  4s5° | (D)  180°
29. UF WA BR Yraw & Hufag @ §9F g W iy AR Fredt ffa © goes
&1 HT U B &
Ay 1:2 | B) 2:1
C 1:42 D) J2:1

The ratio of the magnetic fields in the end-on and broad-side on position of a

very short magnet at equidistance from the middle point of the magnet is

(A) 1:2 : (B). . 2:1
C) 1:42 D). J2:1
30. ffafEa o fege a;%a\@% T &2
(A) THA ferga 31@@ (B) TSI TEHT Y
Q
€ foge fop (D) T fyys
Which of the following docs not exist ?
(A) Single clectric charge (B) Single magnetic pole
(C) Elcctric dipole (D) Magnetic dipole

31. SIZH &) FHAl gl &

hv h
O B =
(C) hiy D) hv
[ 117 IA 11013-A Page 13 of 28
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_ ¥
ad A
W < . &v
C
12 Bdefgs 2w w AT g
W e e A
) W s oy et
Whuh of U lollowing has . harge ?
1A} Alpha pmrtxic (B Beta
K] Photon partele (D) Prn@

13 beige o @ om0 o kD ()

N

;&/

K L \Q® 0 :
Yhuh of the é\.n --@'hr wave number ?
Al A Q$Q\ @Q (B)

(=

e

[

-
/2/ 2
; (>
(0

E

~

A 197 B) 123
IC) 143 (o) 163

The otal number of Neutrons In an atom ﬁ"u s

A 197 (B} 123
G 143 (D) 163
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35. o ool e B ¥

[ ] ] (D} AND, OR, NOI .

Basic logic gates are

(A)  AND, OR (B) NAND, NOR

(C) OR, NOT (D)  AND, OR, NOT
36. (1 + 1) fgamury g gar 2

VI (B) 10

(C), 100 (D) 11

The binary addition of (1 + 1) is
(A) 1 ' (B) 10
(C) 100 (D) 11

1 all N A ~ . N s 3
37. WW:}?mmﬁmﬁf@anmqﬁiz?

73
®
(A) Y=A+4+ B&g\ (B) Y=A+8
C) Y= A & D) Y=AB
% A
Which of the following is correct for the logic symbol — ?
ymbol = »—
(A\ Y=A+B Bl Y=A+B
(C) Y=AB (D) Y=AB
38. U& gl &v fAfafad § i 9@t € 2

(A FgH (B) WRH
€ o - (D)  FeIRHA

o] 117 ] A [11013-A Page 15 of 28
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Which of the following is not a fundamental particle ?

(A)  Neutron (B)  Proton

(€C)  a-particle (D)  Electron

39. faga gy ainl #) o gu gl @

(A) [ et & oo (B) asdt st |

(©  wvi dtwarsd & fog - D) g smgfaat & feaw
Speed of clectromagnetic waves is the same

(A) for all wavclengths (B) in all media

(C) for all intensitics (D) for all frequencies

40. 94U 1 gr & fou wWegn #) afuwan amafa (r ) R Qg B FEAT -

(f ) F AT T Bl &

(A) Jmax - Jinin . (B) fmax + fmm h
S max f in

(€) D min
fmin §‘Q\§® . fmax

The relation betwe Straxi f
¢ rclation clwc\g@ maximum frequency of spectrum (fmax) and minimurm

frequency ofsp@ﬁrum (/i) for bandwidth is  https://www.bsebstudy.com

(A) fmux - fmjn (B) fmux + fmin
J f.

(C) max (D) min
fmin jnuu«c

41, yRE A< & gel fagra Fefafaa 4 @9 & 2

(A) R & YUl 3rdfien Gad (B)  WEIVT T WehIul

-
() " &1 faads (D)  WehI¥T &1 (e
' 117 , A |11013-A Page 16 of 28
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The basic principle of optical fibre is
(A} lotal intcrnal reflection of light  (B)

(C)  diffraction of light (D)

scattering of light

refraction of light

42. THAI (15),, F AR qoui g &
@ o, B,
(€} (10110), (D)  (1001),
The binary cquivalent of decimal (15),, is
(A)  (1101), - (B)  (1111),
(C) (10110), (D)  (1001),
43. 1 FHPeE % SE & €
(A) 10-6¢C (B). 107°C
() 10°¢C \Q@ (D) 10°C
I nanocoulomb is c%@
(A) 1076C @ (B) 107°C
(C) | 108¢C | D) 10°C
44, RV &1 Yfge gI F S.1. THF BN ¢
A)  cm™ B) cm™2
(C) cm D)  cm?
S.1. unit of lincar densily of charge is
A} cm™ @ cm™
(C) cm | (D) cm®
[:117 | A [11013-A Page 17 of 28
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4s. ww&ﬁmwﬁawaﬂ?hﬁgﬁﬁﬁ-wﬁ*ﬁﬂmm%

(A) o B) 30°
D) 90°

of a charged conductor is

(C) 60°
An angle between electric field lines and surface
(A} 0° (B) 30°

(C) 60° . (D) 90

46. Waﬁuﬁmmwﬁm%ﬁﬂmﬂm%

A) CoecaA (B) CxA?
(C) Cal (D) C =< L
A 2

The relation between capacity of a conductor.and its area is

(A) CxA (B) © Cx A?
(€) c"‘% (D) Cncﬁ
Q
K\Q
47. *R'%W%ﬁ?ﬁﬂa&@ﬁﬁuﬁmﬁﬂ?%
\Q‘G
Q
(A) C=Z§§§O.R (B) C=4ne, R
4neo . 5
(C) C= B (D) C-Jme R

Capacity of a spherical conductor of radius ‘R'is

) = 1 B (?:4, c R
(A) c-4ﬂEG.R (B) "€,
4n e 1 ]
C=—2 D) C=——F&’
(C) R 4n t:U
[117 ] A [11013-A Page 18 of 28
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48. WU & Wi wirgrory 11
quIiest & wniay Al 1y Feiferfaa o @3 afer T A 7
(A)  3mAy B

(B) F

“ | - (D) wrfzen

Whi i
iIch of the following quantitics is the

: samc in parall «
capacitors » p cl connection of

(A) Chargc (B E
(C) Potential differ ) Enery
. cnce (D)  Capacity
49. w%wﬁmﬁm@ 3 Bt &
(A) p=L2* 4
d (B) B= 5
da
© B=% (D) B=d.Dx
. Width of interference fringe is
D
(A b= _d
d (B) B= B
dh
€ B=F N (D) B=d.Dx
| g\\
: R
50. U foherare-ger Eﬁ@% g
N .
(A} 3-6x1 B) 3-6x107°y
(C) 3.6x10°J D)  3-6x10~9y
One kilowatt-hour is equal to
(A)  3-6x10°J B) 3.6x10-°
(C) 3-6x107J (D)  3.6x107°
51.  qeifgn & afed g a6 fan A me et s @
i (A) nfd @t feen (B) eIy &I &t faem
(€  ufRe W &l feam (D) FH |/ &Y &I
:[ 117]A 11013-A Page 19 of 28
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S2.

33.

54.

Middlc finger of Fleming's right hand gule rcpresents
(B)  direction of magnctic field

(A)  dircction of motion
(C)  dircction of induced current (D)  none of these
Wi wfcar g &
1
A X, =oL B X, =3r

€ X, =JolL | (D) xL=m

(A) X, - wl (B) X, =

1

wl
(C) X, =Jo.L (D) XL=;
: 1.,‘m.;L

yeArad! urr ofvay  wifw g @
{A} PG‘U = EF.IH.S !r m.s. Slnq) [B] Pau = EI".HL.'-S Ir m.s. COS(?
. L ' - E
(C) P =—""sin¢ (D) P, = T LS cos
F.m.s. Q® r.an.s.
Power in an a]tern%@g current circuit is
IA') HU = E@ F.nus. bln¢' (B) P(IU = Er.m.s Ir .S, COSlp
(C) P = &»smeb (D) P = Erms,
T av = 7] Ccos ¢
r.m.5. r.n.s.

i o fea 39ehtoT & | A1 &7 2T @ar & )
(A)  THIA (B) areeHiex
© eEAde (D) TEEER

Copper loss is associated with which of the following instruments ?

(A)  Ammcter (B)  Voltmeter
(C)  Galvanometer (D) Transformer
[ 117 ] A |11013-A Page 20 of 28
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55. T T &

A) STl gepg (B)  HAT=EHIG TEI
C) % Jrawry gapy o

(D) TEHY US4 7 #
Walter is
(A) dliamagnclic maltcrial ' (B)  paramagnetic material
(C) fcrromagnctic maltcnal (D) not a magnetic material

56. X0 % forw wmit oo ey 2
A 10N mE 107 oA B 107 mF10° m 7

(€ 10" m¥E10°mds D) 108 m#¥ 10 md%

Wavclength range for X-rays is

(A)  from 100 " mto107" m (B) from l.O“”} mto 10® m
(C) from 107" m1o10° m (D) from 108 mto 10™* m
57. W% @1 fAde mﬁ'—l@@% 3
| | S

@$ ' D) 151
C) 141 (D)
Absolute refractive index of ice is
(A) 121 (B) 1:31
©) 141 (D) 1-51

- Wa;mqmm@?ﬁﬁqﬁﬂaﬂamﬁiﬁ?ﬁ%
B -
a L B fo-Se
© S o Tk
- ¢ v

¥
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The length of tube in normal adjustment of Astronomical telescope 1S

A S e, NG
(C) L?_fo (D) foxfe
59.  ool-foeior e gt @
A o= i‘-';}lli ) B) o= = “]u
My = Hy =
(C) W= u (D) n = _{'_lf_-”'li
Hy —1 Hy 7
Dispersive power is
H, — K, -
(A) w = — }] (B) o=ty
My, = Ky -1
H, 1, M
©  wo=telh O o=t te
Ky -1 -1
y
"~
60. IO FehTeT i (1) fou Frafefea 8 &9 @@ & 2
\Q‘G
Q&Q
(A) ] x }l§ , (B) o -
\ 2
lﬁ
] 1
X X’
Which of the following is correct for intensity of scattered light (1) ?
] 1
l—
© Il Bl reg
A \
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61.

62.

63.

2 X T, Bl 2

(A} T gy
- (B)  Z=HHE Hrem
€ TR )ty
- (D) et 1w

!AI - A .
' In nucleys ZX is

(A) atomic number (B}  mas b
S number

C
(C) number of protons (D) number of electrons

U T SS9 90 (1) s e 3

A) 1. -27 |

(A) 6605 x 10727 kg (B) _ 1:6605x10%7 kg
. -17

(C)  1-6605x107'7 kg (D) © 1-6605x10'7 kg

One atomic mass unit (U) is

| IR
(A) 1-6605x10é\®<g B)  1-6605x10%7 kg
9
(C) o
Q
Yeanfiea fage & e fF=fefaa § @14 &t ¢ 2
(A) N = j\.foe'}“r (B) N=NeM
— -2k,
© N=Ne (D) N=N_ e 2
Which of the following 18 correct for radioactive disintegration ?
A N=N oM (B) N=Ne™M
- Yo
Cc N=N e (D) N=Nje
)
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64,

65.

66.

67.

fFrafafaa d s va @@ & 2
(A (99),, = (1100011), - (B)
()  (99),, =(1110011), (D)

Which onc of the following is correct ?

(A)  (99),4 = (1100011), (B)
(C) (99),, = (1110011), (D)
TIATH® il & fAu sefiay giar @

(A) ¢=2nn (B)
(€) ¢é=nn - (D)

(99);0 = (1000011),

(99),, = (1100111),

(99),, = (1000011),

(99),0 = (1 100111),

b=02n+1)n

dp=(n+1)n

Phase-difference for constructive interference is

(A ¢=2nn (B)
€  ¢=nn (D)
Q
6 \Q‘65
(A) 107U (B)
@ _
() 10%vV (D)

Onc megaclectron-volt is cqual to

(A)  10%v (B)
(C) 10%cV (D)
wifeaq &1 FA-Fe ear €

(A)  2:75¢V (B)

(C) 2:57 ¢V (D)

d=(2n+1)n

¢=(n+1)n

10 %ev

107 %ev

107%ev

10 %V

1-75 eV

1:57 eV
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68.

69.

70.

-?117]A
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Work function of Sodium ;
is

(A) 275 cv

(C) 257 ¢cv (B)
NOR%%WWH&W@% ){DJ
A\ AB-y |
€ A+B-=y :z

(A) AB=Yy
(B)

C A+ B =
(C) + Y D)
(A) B?; = 82 + Bf‘ [B]
© B=[oh o
B )

Which of the following r-:s:\{ nsis correct ?

N

A B =B B B
Q@\
(C} B= _B@ (D)
B, _
AT 979 9T Ha@me AT ST gl &
B
(A) 10" ms 1 (B)
(D)
(C) 10'61115_1 |
Drift velocity at normal (emperature is nearly
g}
(B)
a)  1074ms”
(D)

1:75 eV
1:57 eV

l()'qrns.'1

10°ms™!

104ms™!

10°ms™!

-1
(c) 107%ms
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©Ug - & / SECTION - B

Wﬁﬁﬂm/snm Answer Type Questions
W7 wEr 1 ® 20 7y 3w & 1 fet 10 WAt & gav 1 uRiw & R 2 i@

fFrerffia & - 10 x 2 = 20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question

carries 2 marks : 10x2=20

1 U g W& faeda fave @ oo o amed § 2
What do you mean by clectric potential at a point ?

2. fer fogm = & fou el =1 frm fed 2
Write Coulomb's law for clecctrostatic force.

3. wHfawEl 9@ 9 A9 w1 § 2 2

What do you mean by cquipotential surface ?

4. fergcitg feye smgot &t ofesmr @R s o @ 2

Write the definition and S.1. unit of clectric dipolc moment.
5.  ¥9gE a7 9§ 39 40 z:ms:m@% 5
What do you mecan b %ﬁi velocity ?

6. muanﬁ%ﬁwm%@r

Write two uscs& potentiometer.
7. OREA-aE T T ¥
What do you mean by Lorentz force ?
g,  uftymy @t gfvurst fed |
Write the definition of ampere.
9.  ¥iZ & I I9G @l o |

Write two uses of shunt.
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10.

11,

12.

13.

14.

15.

16.

17.

18.

19.

20.

TRl S ) airq oy a3 ¥

What :

do you mean by capacitive reactance ?
YA F) 7 TRumIa ) e
Writc two definitions of refractive index.,

aﬁ'wwﬁﬁw%@l

Write the definition of dispersive power.

RTINS 9y @ 379 T wer & )
What do you mean by optical path ?
TR-HON F Y T FEE § 2

What do you mean by Balmer series ?
Uew! foreott & <t o @t ferd

Write two propertics of alpha-rays.
v Horad F 39 FJ1 g‘ﬂﬁ €2

What do you mean b @Sﬁclcar fusion ?

Wﬁaﬁa@% 3T T IS € ?

What do you &dn by forbidden region in semiconductor ?

-0 Y H A € 2

What do you mean by ground waves ?
www ¥ 3717 F1 G & ?

What do you mecan by www ?

ety @ 19 #1 gHe € ?

What do you mean by isotopes ?

2

bJ

]
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dd Iwdta wv / Long Answer Type Questions

mmm#zsﬁ#wﬁww#rﬁhﬁawﬂ*milﬂﬁ‘*ﬁ"
5 ¥F fAuiffa 2 : . Ix5-=

Question Nos. 21 to 26 are Long Answer Type Que,f;f:'ons_ Answer any 3 quest:ans. Ear_r-

question carries 5 marks : o 3x5=15

21, @ EeiE @) srads amer & fou sive ure #Y 3
Find out the expression for magnifying power of an Astronomical telescope.

22 Fvi-fowinn tew fagem & oo smavas vt & 9 #:3 5

Find out the necessary conditions for deviation without dispersion.

et & Frasl 1 ford 91 et for o fore omravas Wqem v wiaE 7

23.

5
Write Kirchhoffs laws and establish the necessary “balance condition for
Wheceatstonc's bridge.

24. fer-dgfas 9 7w &1y fod it 3@ fag 5
Write Gauss's theorem in electrostatics and prove it.

25. A& fefa 9 (e o3 graw & SR gEsy o F fHe 29w 55y 5
Find out the C‘X]’)I‘C‘w‘-‘ii()%%l’ magnetic field due to a bar magnet at its end-on-
position. &

26. mmms@um)aﬂmml .
Explain hght umlnn;., diode (LED).
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